1 2,3, 4, 5, 6 9 $247} 27 2 6 ) AAEeIA 3 L Bo}
BIE 5 gl A 2] o] 40 A9 S

® 40 714 @ 60 71 @)120 77

@ 150 74 ® 180 71

~&B

g o] Zteofl= 1 ~6 5 o= S Hote HE = 6 7FA7F )AL,
A o] At o= # o Ao A AHERE shE Al Ll’t 5 7HA] 7t
Jom Ao Aol WMo A2 e 4o Ao A AR 2 TN E
A eIt 4 ZEA]7F Ak, whebA ks 790 = 6x5x4 = 120
(7HA]) ol et




2.

ohe -3 22 A7 oA AB = 10cm, BC = 6cm, AC =

El’ﬂaé
8em ¥ W, AABC 9] 2] ¢12] Wol&?

@ 36mcm? @257701112 ® 227cm?

@ 20mcm? ® 16mcm?

g ee] WA BL WA Boe] woln2 1V = s(em)

mreha] Yol 1 x 52 = 251(cm?) o]t}

N




